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ABSTRACT
Performance variability in complex computer systems is
a major challenge for accurate benchmarking and per-
formance characterization, especially for tightly-coupled
large-scale high-performance computing systems. Point
summaries of performance may be both uninformative, if
they do not capture the full richness of its behavior, and
inaccurate, if they are derived from an inadequate sam-
ple set of measurements. Determining the correct sample
set—and in particular, its size—requires balancing trade-
offs of computation, methodology, and statistical power.

In this paper, we treat the performance distribution as
the primary target of the performance evaluation, from
which all other metrics can be derived. We propose a
meta-heuristic that characterizes the performance distri-
bution as it is being measured, dynamically determining
when enough samples have been collected to approximate
the true distribution. Compared to predetermined fixed
stopping criteria, this dynamic and adaptive method can
be more efficient in resource use, since it can stop as
early as the desired certainty level is obtained, and more
accurate, since it does not stop prematurely. Importantly,
it requires no advance knowledge or assumptions about
the system under test or its performance characteristics.
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We evaluate a prototype of our proposal using a mix
of synthetic and real benchmarks. For synthetic distribu-
tions, this approach closely matches the true distribution.
For actual benchmarks, the heuristic is overly conser-
vative for some applications and overly lax for others,
especially those using GPUs. But it still matches the
overall shape of the distribution for benchmarks with
very diverse distributions, which suggests that it is a
viable approach for an adaptive stopping rule.
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1 MOTIVATION AND BACKGROUND
Computer systems performance evaluation is a rich field
of research, with thousands of studies dedicated to the
theoretical, methodological and practical aspects of ob-
taining accurate performance measures [12]. One of the
complicating factors of such evaluations, especially with
the emergence of parallel, distributed, heterogeneous,
and serverless computing, is that performance, how-
ever one chooses to define it, is rarely deterministic
[17]. Nowhere is this more visible and problematic than
perhaps in High-Performance Computing (HPC), a field
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that, as evident from its name, is focused on performance-
critical applications of software, middleware, and archi-
tectures. As HPC systems grow increasingly larger and
more heterogeneous, their performance in turn grows
harder to capture with just a single number or two, and
the causes of their performance variability grow harder
to identify and quantify [22, 30].

Consequently, we should think of performance in com-
puter systems, and especially in HPC, as a random vari-
able. Any description of an empirical random variable—
either as a point estimate or as a distribution—requires
repeated measurements [14]. A critical challenge for the
experimenter is choosing a good number of repetitions
[12]. Choose too few, and the measurements would be
unreliable; choose too many, and precious compute re-
sources would be wasted; choose a wrong methodology,
and the computations would be statistically unstable or
invalid [32].

The decision of when to stop repeating a measurement
(or stopping rule) can be classified into two approaches:
fixed-sample rules and sequential rules [20]. Fixed-sample
stopping rules, as their name suggests, stop an exper-
iment after a predetermined fixed number of samples
has been obtained, based on certain a priori knowledge.
These rules are easy to implement but are inefficient
in the sense that they may require more samples to
reach the same conclusion that a sequential stopping
rule would reach [9]. In contrast, a sequential stopping
rule determines dynamically the required sample size
using information collected from preceding samples.

For example, a common confidence-based rule is to
measure samples until the empirical relative precision
(standard deviation divided by mean) reaches a pre-
scribed value [6]. A related (but flawed) sequential stop-
ping rule might be to choose in advance a confidence
level such as 𝑝stop = 0.05 and stop the experiment once
we can reject the null hypothesis, that is, that the perfor-
mance deviates from a specified value [26]. This clearly
wrong method is an example of “p-hacking”: by defini-
tion, 5% of the sample set we collect randomly would
“reject the null hypothesis,” so by increasing the sample
size indefinitely, we would always eventually hit that
𝑝stop < 0.05 threshold. We could alleviate this problem,
for example by adding a stopping criterion when 𝑝stop
exceeds a higher threshold [9] or by calculating coverage
contours [29].

Similar approaches based on confidence intervals or
hypothesis testing exist, but they suffer from statistical
weaknesses, such as assuming that samples are inde-
pendent, or that p-values can be computed accurately—
requiring that the sample distribution is static and can

be characterized in advance [9]. These assumptions are
often unrealistic for computer systems performance tests.

Various works examined different distribution domains
for stopping rules, such as continuous monitoring [8], au-
tocorrelated series [11], extreme values [24], symmetric
distributions [18], and Bayesian stopping rules [25, 26].
Specifically for computer system performance bench-
marking, there are studies on determining the best num-
ber of repetitions in specific areas, such as HPC and
parallel computing [12], networking [13], performance
counters [28], and cloud computing [2, 10, 11].

Other research pointed out methodological and statis-
tical flaws of different stopping rules and some proposed
revised rules to overcome these limitations [7, 21, 23].
No single rule is perfect for every situation, so in addi-
tion to the methodological and statistical considerations,
a careful choice of stopping rule must also include an
understanding of the underlying distribution. This is the
main limitation that we attempt to overcome here.

This paper does not propose yet another sequential
stopping rule, although it does reuse several existing
ones. Instead, we ask a different question: if we can as-
sume almost nothing about the performance distribution
in advance, can we still select and apply an efficient
sequential stopping rule? We answer this question affir-
matively by prototyping such a “meta-rule”. Like every
other sequential stopping rule, ours collects samples, ob-
serves them, and dynamically decides how many more
samples are required. But rather than focusing only on
the performance samples, our system also observes the
properties of the performance distribution itself (and
how it varies over time), in order to select the most
appropriate stopping rule for each distribution as it is
discovered in real time.

The next section details the design and implementa-
tion of this heuristic. We continue with an empirical
evaluation of its efficacy on various synthesized distri-
butions and real performance benchmarks. Finally, we
discuss the broader implications of our proposed ap-
proach in the Discussion section, and present a summary
and potential future work in the Conclusion section.
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2 DESIGN AND IMPLEMENTATION
Recall that the purpose of a benchmark, as we define it,
is not to summarize any particular performance metric
but rather to estimate the true distribution of the metric
accurately and expediently, from which all summaries
can later be derived. To this end, we measure the success
of a stopping heuristic in producing a minimal set of se-
quential samples that approximates the true distribution
to a desired accuracy, based on some distance metric.
Assessing this success requires three steps:

1. Estimate the “true” distribution for each bench-
mark by running it 1,000 times. This sample size
is adequate to establish “ground truth” because
when we run each benchmark 1,000 times again,
we get two very similar distributions.

2. Compute the “optimal” (minimal) number of sam-
ples that produces a “close-enough” distribution to
the true distribution. Each subset of 1 ≤ 𝑘 ≤ 1, 000
samples represents a distribution of its own, whose
distance to the true distribution we can measure.
Once this distance falls and stays below a prede-
fined threshold, we can say that the subset distri-
bution approximates the true distribution, and its
size is the smallest number of samples required to
achieve this approximation.

3. Finally, we can measure the success of any stopping
rule, including our meta-rule, by comparing the
distance of its sample set’s distribution to that of
the “optimal” and “true” distributions.

Both step 1 and step 2 require a distance statistic
between two distributions. We evaluated four such sta-
tistics: Jensen-Shannon, Kullback-Leibler, Kolmogorov-
Smirnov, and t-test, and opted to use the Kolmogorov-
Sminov (KS) test because of its attractive mathematical
and empirical properties [1]. As an illustrative example,
Figure 1 shows the effect of the sample size 𝑘 on the
distance metric of the subset 1..𝑘 samples compared to
the full 1, 000-sample set, using ten benchmarks from
the Rodinia suite [5].

Naturally, all benchmarks start with maximum dis-
tance (1.0) when comparing a single sample to the full
set, then decreasing exponentially down to zero when
comparing the full set to itself. But the path they take
there varies from benchmark to benchmark, having differ-
ent distance measures from the true distribution at the
same sample size. The practical implication here is that
any fixed sample size would likely cause the experiment
to run too many measurements for some benchmarks
and too few for other benchmarks to approximate the
true distribution. It emphasizes the importance of adapt-
ing the number of samples and the stopping rule to the

empirical distribution at hand. Our adaptive heuristic
attempts to detect the properties of the empirical dis-
tribution and stop measurements when these properties
stabilize, based on distribution-specific criteria.

To estimate an “optimal” sample set that captures
the distribution well, we can compare different subset
sizes to the full set we computed offline (an assumption
we cannot make in online experiments). Figure 2 shows
the effect of choosing different metric threshold values,
and consequently, the number of samples required to
meet the specified distance threshold. Observe how the
histograms appear more similar to the full sample as we
decrease the threshold value.

Almost all histograms, except for the first column,
appear fairly similar to the “ground truth” distribution,
so we have decided to pick the highest threshold value
of these (0.1) to represent the “minimal” requirement to
approximate the true distribution. From this threshold,
we can count the “optimal” number of samples required,
which is different for each benchmark, as shown in Figure
2. The optimum is defined to be the minimal number
of samples such that the KS distance to the ground
truth drops and remains below 0.1 for the remainder of
the data. Of course, this choice is somewhat arbitrary,
and experimenters are free to choose their own ideal
threshold to trade accuracy for speed. But we can find
additional validation for this value from the last column
that depicts an independent execution of another 1000
runs of the same benchmarks. Even these two large
sets (rightmost) diverge somewhat because of factors
beyond our control, such as CPU throttling, context
switches, etc. The magnitude of this divergence rarely
exceeds 𝐾𝑆 = 0.1, which makes it a reasonable baseline
threshold for background variability.

It is worth repeating that there is no “magical” rea-
son to pick 0.1 as our threshold. We chose it because
in our graphs, it makes the optimal and ground-truth
distributions appear close enough, and because it covers
most of the natural variance within the ground-truth
distributions themselves. But one may choose higher
values if the need to complete benchmarks early takes
priority over accuracy, and vice-versa.

Also note that using a distance metric like KS is not
the same as using a distance metric like RMSE. The
latter attempts to minimize the residuals (distance) of all
points and bring the curves as closely together as possible,
pointwise. Minimizing KS distance attempts only to
capture the salient aspects of the distribution, like modes
in the same locations, if not the same magnitude, so
the distribution plots may show gaps between “optimal”
peaks and “ground truth” peaks.
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Figure 1: KS distance from full sample for sequential subset run times for ten Rodinia CPU benchmark (log-scale).

Having picked a threshold and determined an “optimal”
sample size for each benchmark, we can evaluate how
close to this size different stopping rules—including our
proposed meta-rule—actually stop. To do so, we next
describe the heuristics behind our proposed meta-rule,
followed by the actual empirical evaluation.

2.1 Meta-heuristic
The adaptive stopping rule consists of two heuristics, one
to identify the underlying sample distribution and one
to apply a bespoke stopping criterion for the classified
distribution. After collecting an initial small sample set,
the rule performs a sequence of if-else queries on the
accumulated samples, asking whether the data fits a
known distribution, and if so, whether the appropriate
stopping criterion decides to stop (Figure 3).

If at any point both queries respond affirmatively, we
stop the data collection without attempting other rules.
The order of queries, therefore, represents increasing
generality of the stopping rules from specific to catch-all,
and proceeds as follows:

1. Constant: if the difference between minimum and
maximum samples is smaller than 10% of the mean,
which is a tunable value, we can stop immediately.

2. Monotonic: If all samples are monotonic, that is,
they keep increasing (or decreasing) over time, we
can stop the experiment and warn to check whether
the experiment is misconfigured or unstable.

3. Autocorrelated: Some performance metrics exhibit
temporal patterns and periodicity (e.g., the diur-
nal patterns in Facebook’s Memcache performance
metrics [34]). If the measured sample autocorre-
lation at any positive gap is greater than 0.8—a
tunable value—we apply a block-bootstrapping
stopping rule [11].

4. Gaussian: For unimodal performance distributions,
we test whether it fits a Gaussian (normal) distri-
bution, using a tolerant and configurable p-value
of 0.2. If so, we apply a simple test of convergence
for the width of the samples’ standard error.

5. Log-normal: Otherwise, the unimodal distribution
may be asymmetric, which is common for perfor-
mance with long-tail events. In this case, we test
whether it fits a log-normal distribution—again
with a p-value of 0.2—and if so, apply a Bayesian
test of convergence for the width of the samples
High-Density Interval [16].

6. Multimodal: If instead we identify two or more
distinctive modes, we use a Gaussian Mixed-Model
grid search to find the best fit to a model with up to
6 Gaussian components and 4 types of covariances.
If found, we apply a stopping criterion based on a
log-likelihood threshold [4].

7. Uniform: If all previous tests failed, we check if the
sample fits a uniform distribution with a p-value of
0.2. If it does, there is likely something wrong going
on with experimental conditions, and we stop and
warn the user.



Adaptive Stopping Rule
for Performance Measurements PMBS ’23, November 13, 2023, Denver, CO

k=13k=13k=13k=13k=13k=13k=13k=13k=13k=13k=13k=13k=13

k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49k=49

k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32k=32

k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29k=29

k=14k=14k=14k=14k=14k=14k=14k=14k=14k=14k=14k=14k=14k=14

k=12k=12k=12k=12k=12k=12k=12k=12k=12k=12k=12k=12

k=19k=19k=19k=19k=19k=19k=19k=19k=19k=19k=19k=19k=19k=19k=19k=19k=19k=19k=19

k=20k=20k=20k=20k=20k=20k=20k=20k=20k=20k=20k=20k=20k=20k=20k=20k=20k=20k=20k=20

k=14k=14k=14k=14k=14k=14k=14k=14k=14k=14k=14k=14k=14k=14

k=17k=17k=17k=17k=17k=17k=17k=17k=17k=17k=17k=17k=17k=17k=17k=17k=17

k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198k=198

k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109k=109

k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102

k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123

k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48k=48

k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102k=102

k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111k=111

k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123k=123

k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94k=94

k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58k=58

k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346k=346

k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394k=394

k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381k=381

k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203k=203

k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185k=185

k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190k=190

k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221k=221

k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365k=365

k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534k=534

k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189k=189

k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722k=722

k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901k=901

k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936k=936

k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904k=904

k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922k=922

k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915k=915

k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944k=944

k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892k=892

k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830k=830

k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889k=889

n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000

n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000

n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000

n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000

n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000

n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000

n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000

n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000

n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000

n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000n=1000

KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156KS=0.156

KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046KS=0.046

KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097KS=0.097

KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059KS=0.059

KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106KS=0.106

KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032KS=0.032

KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026KS=0.026

KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025KS=0.025

KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088KS=0.088

KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028KS=0.028

1. KS=0.2 2. KS=0.1 3. KS=0.05 4. KS=0.01 reference set validation set
backprop

bfs

heartwall

hotspot

km
eans

lavaM
D

leukocyte

lud

needle

srad

0 2 4 6 0 2 4 6 0 2 4 6 0 2 4 6 0 2 4 6 0 2 4 6

0
1
2
3

0
2
4
6

0.0
0.5
1.0
1.5
2.0

0
2
4

0
1
2
3
4

0
2
4
6

0
1
2

0
1
2
3
4
5

0.0
0.5
1.0
1.5
2.0
2.5

0
1
2
3
4

Run time (s)

D
en

si
ty

Figure 2: Density histograms for ten Rodinia benchmarks: a reference set with 1,000 runs (red); four subsets for
different threshold values of KS distance (blue) from reference; and a separate 1,000-run validation set (purple).

8. Finally, if no applicable stopping rule was found
or none chose to stop the experiment, we apply an
upper-bound test on the sample size (in essence,
a fixed-sample limit of 400) to ensure that the
process ends at some point.

Note that all of these heuristics have tunable parame-
ters. Parameter tuning is tedious and error-prone, which
is a major disadvantage of our decision-tree predictor.
Nevertheless, we decided to start with this simple model
because it is easy to interpret and debug. As discussed in
Sec. 5, there are more sophisticated models to investigate
that could be less brittle and produce better predictions,
and would likely supersede this model. Even within the
confines of this model, parameter choices could be im-
proved further with an optimization or search heuristic,
but this sophistication was not necessary to demonstrate
the efficacy of an adaptive meta-rule.

We therefore manually adjusted all of the tunable
parameters for our experiments concurrently to approxi-
mate the 𝐾𝑆 = 0.1 threshold on the synthetic benchmark
suite, and applied those same values to the application
benchmark suite, as described next.

Collect initial set
of samples

Yes

No

Data fits
any known
distribution

No

Yes

Corresponding
stopping criterion

met

Stop

Collect more
samples

Start

Yes

No
Max samples
limit reached

Figure 3: Flow chart for meta-heuristic
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3 EXPERIMENTAL EVALUATION
Our primary criterion of success for the adaptive stop-
ping rule is how closely it matches the true distribution,
as defined in the previous section. To this end, we ran and
logged 1,000 measurements each of benchmark from two
sets: one synthetic, where we can generate and control
the distribution of run times, and one from real bench-
marks with diverse distribution characteristics. We then
replayed the logs to our adaptive decision rule heuristic
and recorded the number of samples it deemed necessary
to reach distribution stability.

All of the experiments were executed on a two-node
Kubernetes cluster using the Fission framework to repre-
sent emerging deployment models, which also add vari-
ability [3]1. The worker node running the benchmarks
used an AMD EPYC 7443 24-Core Processor, 256GiB
of RAM and an NVIDIA A100X GPU, compile with gcc
8.3.0 and nvcc 11.7.64 on Linux 5.15-0-78 (Debian). The
Fission environment used to run the experiments used
40-48000 millicores and 64-168000 MB memory.

3.1 Synthetic Distributions
As a first step toward evaluating and validating our ap-
proach, we generated a suite of synthetic “benchmarks”
that produce randomized performance numbers based
on a desired distribution. We selected ten distributions
that represent a spectrum of interesting behaviors, such
as nonconverging (Cauchy), autocorrelated (sine), and
naturally occurring performance distributions (normal,
lognormal, multimodal). This is a limited set of distri-
butions, but we argue that it is capable of representing
most performance distributions observed in computer
experiments, supported by some evidence from our exper-
iments described in the next section. A different calibra-
tion benchmark suite that could improve upon this initial
selection could be built from a collection of varied, real,
and representative computer experiments such as the Ro-
dinia benchmark. Such a suite could be community-built
and reflect currently used applications.

We iterated dozens of runs over the distributions on
our synthetic benchmark to fine-tune the various heuris-
tic parameters and thresholds. This is a one-time tuning
step that should not need to be repeated for different
applications and domains since it covers all the distribu-
tions recognized by the meta-heuristic.

Figure 4 shows density plots for ten different synthetic
distributions, comparing four methods of data genera-
tion: (1) the analytical method generates a continuous

1When running the experiments locally instead of with Fission,
most experiments show similar distributions, except with a shift
to the left due to their slightly faster run times.

Table 1: All benchmarks and their parameters

Benchmark Parameters
backprop 6553600
bfs 4, graph1MW_6.txt
heartwall test.avi, 20, 4
hotspot 1024, 1024, 2, temp_1024, power_1024
kmeans 4, kdd_cup
lavaMD 4, 10
leukocyte 5, 4, testfile.avi
lud 8000
needle 20480, 10, 2
sc 10, 20, 256, 65536, 65536, 1000, none, 4
srad 1000, 0.5, 502, 458, 4
backprop-CUDA 955360
bfs-CUDA graph1MW_6.txt
heartwall-CUDA test.avi, 100
hotspot-CUDA 512, 2, 2, temp_512, power_512
needle-CUDA 10240, 10
sc-CUDA 10, 20, 256, 65536, 65536, 1000, none, 1
srad-CUDA 100000, 0.5, 502, 458

PDF from a theoretical distribution function; (2) the
ground-truth method generates 1,000 random samples
from the distribution, and is the empirical reference
point for the next two methods: (3) optimal, which is
the smallest subset that meets the KS distance criterion
(0.1) from the ground truth, and (4) experimental, which
is the subset of samples determined adequate by our
meta-heuristic.

Overall, the experimental and optimal distributions
look fairly similar. The tunable parameters we picked
tend to be conservative for all but three of the distribu-
tions, running a little too long and reaching a KS value
below the 0.1 value. For the constant and loguniform dis-
tributions, the parameters are a little too lax, stopping
before reaching the threshold. Only the autocorrelated
experiment (sine) fails to approximate the distribution
well. The interactions between heuristics for detecting
different distributions prevented proper tuning of the
autocorrelated detection heuristic, which ended up being
triggered and stopping before other more relevant heuris-
tics if it was too strict. We expect that using search and
optimization methods to tune these parameters could
provide better solutions.

Having tuned our parameters on the synthetic dataset,
analogous to a training phase, we continue to a testing
phase by evaluating them on real applications.

3.2 HPC Benchmarks
We ran benchmarks from the Rodinia [5] suite for hetero-
geneous computing (Table 1), of which seven applications
had both CPU and GPU versions. CPU-only benchmarks
used the OpenMP API while GPU benchmarks used the
CUDA API. All of these benchmarks were invoked using
a python wrapper which checks the system time before
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Figure 4: Density plots of synthetic distributions using four methods of generation. Each distribution name is followed
by KS distance of the experimental sample relative to the ground truth.

and after the execution of the benchmark’s binary. The
difference is reported as the execution time in a resolu-
tion of ≈ 10 microseconds. Since this measurement is
done within the application, it captures system perfor-
mance without including other networking and queuing
delays. We consider this execution time the metric of
performance. We use default parameters for most of the
benchmarks and updated the rest to make the execution
time similar to those of Azure functions [27] used in the
real world. As in the previous case, each benchmark was
repeated 1,000 times to obtain the “ground truth” dis-
tribution. Then, we computed the “optimal” sample set
at which the KS threshold drops below 0.1. Finally, we
replayed each log to our adaptive heuristic and recorded
the point where it decided to stop. All three distributions
are plotted in Figure 5.

Overall, the shapes of the distributions match closely
for most benchmarks, affirming our goal of a stopping
rule that produces a representative distribution under
diverse workloads. The results are clearly not perfect,
however, as evidenced by the experimental distributions’
KS distance from the ground truth. Some distributions

remain unclassified until they hit the maximum sample
limit at the end of the meta-heuristic, resulting in unnec-
essarily low KS values. Other benchmarks are stopped
too early, resulting in higher KS values than our target
0.1. The fact that the model was tuned for synthetic ap-
plications, combined with the high levels of irregularity
and noise exhibited by real applications, likely explains
some of the distance from our target KS values.

This divergence is particularly noticeable in the GPU
benchmarks. It is worth noting that none of the syn-
thetic benchmarks on which we trained runs on a GPU,
and that GPU distributions appear more irregular and
right-tailed than CPU distributions. The seven GPU
benchmarks required on average nearly twice as many
samples to drop below the KS threshold compared to
their CPU counterparts, with one requiring as many
as 708 samples! This finding further strengthens the
argument that the introduction of heterogeneous com-
puting increases performance variability and requires
adaptation of stopping criteria compared to CPU-only
implementations.
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Figure 5: Density plots of Rodinia benchmark distributions using three methods of generation. Each distribution
name is followed by KS distance of the experimental sample relative to the ground truth.

4 DISCUSSION
As computer systems grow larger and more heteroge-
neous, their performance also grows more complex and
variable. Understanding systems performance is there-
fore understanding performance distributions, and mea-
suring distributions accurately requires numerous mea-
surements. Performance evaluations, and more generally,
online experiments, should ideally be designed to collect
only as many measurements as are needed to understand
and summarize the data at a desired confidence level,
no more and no less. There are various stopping rules
that can be applied to figure out the best time to stop
an experiment, but choosing the best rule requires an
advanced understanding of the empirical data and its
statistical properties. Often, we do not have this un-
derstanding before we collect the data, which may be
an expensive or time-consuming process. We may also
not have the expertise to determine the optimal stop-
ping point for data we do have. Complicating further
the decision of when to stop the experiment is the fact

that some systems exhibit distinct changepoints, when
performance metrics exhibit persistent changes [35].

Our proposal automates the stopping-rule decision
process and adapts at run time. It incorporates two
primary online components: data analysis to dynamically
learn the patterns in the data, and statistical models
to determine the most appropriate stopping rule for
each pattern. As data is collected and analyzed, the
model evaluates and reevaluates the most appropriate
stopping rule, and applies it to the measured data. Thus,
this proposal both pre-encodes expertise on stopping
rules and reacts dynamically at run time to changes and
transient effects in the data. Effectively, our proposal
trains a very simple distribution classifier using a decision
tree. It may be naive and somewhat crude for the tested
benchmarks, but it is easy to interpret and debug. We
expect that by leveraging results from the extensive
literature on machine learning, we could train a more
accurate classifier that is more robust to the noise of real
benchmarks, which should eventually replace our model.
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Although the Rodinia benchmark suite mostly repre-
sents HPC use cases, which often scale beyond a single
node, we did not need to go outside the single-node limits
to observe high performance variability. The benchmarks
were ran as parallel programs, using multiple CPU or
GPU cores, but without using the network. Large-scale
HPC systems introduce even more performance variabil-
ity because of contention over access to shared resources,
such as I/O and the network, but we believe that the
same statistical underpinning of our approach still apply.

This work could also generalize beyond HPC perfor-
mance evaluation to many classes of experiments. Some
static and dynamic sequential stopping rules have been
studied in domains other than performance evaluation.
For example, in deciding when to stop a gradient descent
search, an adaptive sequential stopping rule based on
an information-content criterion has been proposed [19].
More rules have been proposed in the context of infor-
mation retrieval [15], surveys [33], and even computer-
adaptive testing [31]. While these proposals make sense
for their domains, they do not generalize as well to per-
formance evaluation. On the other hand, we believe that
our proposed meta-heuristic adapts to most situations
where a stopping criterion needs to accommodate an
unknown parameter distribution.

5 CONCLUSIONS
In this paper, we address the question of how to esti-
mate the distribution of a data stream as accurately
and efficiently as possible without advance knowledge of
the distribution. We propose a meta-heuristic (or stop-
ping rule) that dynamically assesses the fit of preceding
data to a set of statistical models and based on this fit,
chooses the most appropriate stopping rule to compu te
and apply. To the best of our knowledge, this is the first
proposed meta-heuristic stopping rule that generalizes
to nearly any performance evaluation (and in fact, any
online experiment). This approach confers the following
advantages over static stopping rules:

∙ Obviate the need to pre-analyze the data.
∙ Automatically compensate for or avoid the statis-

tical deficiencies of static stopping rules.
∙ Increase confidence in the statistical strength of

the measurements.
∙ Decrease experimentation time and cost for a de-

sired confidence level.
We implemented a prototype for this meta-heuristic

that we plan to open-source in the near future. Our ex-
perimental evaluation of this prototype shows that it can
identify synthetic distributions accurately and stop very
close to our desired threshold. For actual benchmarks,

results are mixed, with the occasional large deviations
from the target distance values, but also with an overall
close approximation of the distribution’s shape.

The main direction for future research is therefore to
improve the accuracy of our model. This work could in-
clude training on more datasets (applications) and using
more sophisticated classification models to identify the
distribution and more sophisticated regression models
to predict the optimal stopping point. We could also
explore the use of complex time-series prediction models
that are trained offline on thousands of application logs,
which may improve prediction accuracy.

Another limitation of our model is that it is not cur-
rently designed for efficiency itself. Repeatedly selecting
a statistical model to fit the complete sample set at
every point is resource-hungry. Although we have not
noticed a problem in practice when having to recompute
all these heuristics for every new sample, conceivably,
some real-time or fast online systems require a more
optimized model. One such optimization, for example,
is to preserve all the internal state of the functions that
do model fitting, and reevaluate them every time with
only the incremental sample data. We plan to explore
these avenues in the future.
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